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QUESTION 1

As the Workflow Administrator you are responsible for ensuring that approval workflows are handled in a
timely basis.

If you notice that there are outstanding natifications, what action can you take to move the approval along?
A. Deny the workflow on behalf of the assigned Approver.

B. Approve the workflow on behalf of the assigned Approver.

C. Push back the workflow to another Approver.

D. Reassign the workflow to another Approver.

Correct Answer: D

QUESTION 2

Your customer is hiring an employee and assigning a line manager to the newly hired employee. What statement is
correct?

A. The line manager search is based on the position hierarchy. Therefore, if an employee is hired in a particular
position, the search will populate employees with a higher position than the newly hired employee.

B. All the employees whose employment record has the "Working as Manager" check box marked as "Yes" can appear
in the drop-down list.

C. The line manager search is based on the public person security access.

D. The line manager search is based on the job in which the employee is hired; only the job grade higher than the
employee job will appear in this list.

Correct Answer: D

QUESTION 3

You are configuring Enterprise Onboarding Checklists and need to ¢ to new hires during onboarding by
line managers and HR specialists.

Which Checklist enhancement supports this requirement?

A. Checklist Category

B. Checklist Validity

C. Checklist Completion

D. Task Library
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Correct Answer: C

QUESTION 4

As an implementation consultant, you need to configure different rules for the Transfer transaction. Which fields can be
used as criteria or parameters to determine when and for whom a rule is applied?

A. Business Unit, Location, Position, Action, and Worker Type

B. Role, Legal Entity, Country, Business Unit, Action, and Worker Type

C. Legal Entity, Country, Business Unit, Division, Action, and Worker Type
D. Role, Legal Entity, Country, Division, Action, and Worker Type

Correct Answer: A

QUESTION 5

An employee\\'s job description is "Recruiter" as of 01-Jan-2015. This job was updated in the system to "Consultant” on
01-Feb-2015. The 01-Feb-2015 assignment record is the latest effective dated employment record in the system. On
01-Mar-2015, the HR specialist wants to view this employee\\'s previous employment details and searches for them on
the Person Management page. The HR specialist enters the effective as-of date value as 31-Jan-2015 with the search
keyword "Recruiter" because the employee was working as a recruiter on 31st Jan 2015. The search returns no rows.
What is causing this?

A. The Person Management page search does not support Job attribute keywords.

B. The Update Person Search Keyword process has associated the effective dates with the job attributes in the keyword
record resulting in search discrepancies.

C. The Update Person Search keyword process has failed on 31-Jan-2015 but ran successfully the next day.
D. The Person Management page search does not support date-effective keywords.

E. The Update Person Search Keyword process has updated the latest effective dated job attribute in the keyword
record.

F. The Update Person Search keyword process has failed on 01-Mar-2015 but ran successfully the previous day.

Correct Answer: E
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